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https://drive.google.com/drive/folders/OB75b5xY Lj SSNOUtSMndmV |V 3czA 2usp=sharingQUESTION 192Which mode must the
Cisco MDS VSAN be configured for so that it interoperates correctly with a Brocade Fibre Channel switch that is configured for
interop mode?A. interop mode 2B. interop mode4C. interop mode3D. native modeE. interop mode 1Answer: E
QUESTION 193Refer to the exhibit. ABC company has successfully implemented the smart call home. Which three configuration
components for CallHome are mandatory? (Choose three) A. periodic inventory intervalB. aert group to collect outputC.
destination profileD. email server and from email addressE. contact informationF.  system contactAnswer: DEFQUESTION
1940n Cisco Nexus 1000v Switch, you can alow the VSM and VEM to communicate over IP for control and packet traffic. Before
you create a port profile for Layer 3 control, which two statements must be verified? (Choose two)A.  Only one port profile can be
configured with the capability Layer 3 control command.B. All VEMs belong to the same Layer 2 domain.C. The transport
mode for the VSM domain should be configured as Layer 3.D. The port profile must be atrunk port profile.E.  Different hosts
should belong to the same VLANSs for Layer 3 control.Answer: ACQUESTION 195Refer to the exhibit. Which two reasons explain
why vPC peer-switch is not working? (Choose two) A. VPC peers are not the root of spanning tree topology.B. The peer keep
alivelink isdown.C. Cisco Discovery Protocol is not configured.D. The featureis not enabled on the vPC peer.E. Loop Guard
is disabled.Answer: BDQUESTION 196Which statement about NPV on the Cisco Nexus 5000 Series Switchesistrue?A. By
default, Cisco Nexus 5000 Series Switches operate in NPV mode. In this mode, the switch provides standard Fibre Channel
switching.B. In NPV mode, each switch that joinsa SAN isassigned adomain ID. Each SAN (or VSAN) supports a maximum of
239 domain IDs, so the SAN has alimit of 239 switches.C. In NPV mode, the edge switch relays al traffic from server-side sports
to the core switch. The core switch provides TE Port functionality to the downstream NPV switch.D.  In NPV mode, the edge
switch appears as a Fibre Channel host to the core switch and as aregular Fibre Channel switch to its connected devices. Answer: D
QUESTION 197Drag and Drop QuestionDrag and drop the vPC feature on the left onto the correct description on the right.
Answer: QUESTION 198Which description of how to enable DIMM blacklisting istrue?A. Enable blacklisting in the servers >
policy subtabB. Enable blacklisting in the serversinventory > memory subtabC. Configure amemory policy under the services
tabD. Configure amemory policy in the equipment > policy subtabAnswer: AQUESTION 199Refer to the exhibit. An admin
wants to bring online a new leaf node into their ACI fabric. Before registering the lead node, the admin checks the current status and
sees this output.Which option is the reason for the admin to see this output? A. The DHCP server running on the APIC hasfailed
and this the leaf node has not been able to obtain an IP addressB. Thelead node is yet to be physically connected to the fabricC.
This output is expected until the admin registers the leaf node and assignsit aroleD. Thisoutput is expected until the admin
registers the lead node with an ID and nameE. Thiswrong catalog firmware is running on the APICAnswer: EQUESTION 200
Which two connectivity modes does Cisco RISE support? (Choose 2)A.  Directly connected. No virtual port channel is supported.
B. Indirectly connected. Only Layer 3 adjacent.C. Indirectly connected. Only Layer 2 adjacentD. Indirectly connected. Layer 2
and Layer 3 adjacent.E. Directly connected. Virtual port channel is supported.Answer: CEQUESTION 201Which three
commands must be run to enable support of adapter-fex on an interface on Cisco Nexus Switch? (Choose 3)A.  feature adapter-fex
B. feature-set adapter-fexC. feature-set virtualizationD. featurefexE. switchport mode adapter-fexF. switchport mode vntag
Answer: ACFQUESTION 202Which three distinct categories are within the cloud computing stack? (Choose 3)A. PaaSB. LaaS
C. DaaSD. NaaSE. SaaSF. laaSAnswer: AEFI!IRECOMMEND!!!1.]2019 Latest 400-151 Exam Dumps (PDF & VCE)
722Q& As Downl oad: https://www.braindump2go.com/400-151.html2.|2019 L atest 400-151 Study Guide Video: Y ouTube Video:
Y ouTube.com/watch?v=Y gY CknRZclo

Output as PDF file has been powered by [ ] plugin from www.ProfProjects.com | Pagel/1 |


http://www.mcitpdump.com/?p=9443
http://www.youtube.com/watch?v=YgYCknRZclo
http://www.profprojects.com/?page=upm

